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QUESTION 1

If the following commands are executed successfully:

CREATE DATABASE my_db ON /mnt/fs1, mnt/fs2 PAGESIZE 4096;
UPDATE DB CFG FOR my_db USING EXTENDED_ROW_SZ ENABLE;

Which SQL statement will fail?

O A. CREATE TABLE tab_a (col1 INT NOT NULL, col2 VARCHAR(5000))
CRGANIZE BY (col1)

© B. CREATE TABLE tab_a (col1 INT NOT NULL, col2 VARCHAR(5000))

O C. CREATE TABLE tab_a (col1 INT NOT NULL, col2 VARCHAR(5000))
CRGANIZE BY KEY SEQUENCE (col1 STARTING FROM 1 ENDING AT 100000)
ALLOW OVERFLOW

> D. CREATE TABLE tab_a (col1 INT NOT NULL, col2 VARCHAR(5000))
PARTITION BY RANGE (col1) (STARTING 0 EXCLUSIVE ENDING 100 INCLUSIVE)

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

QUESTION 2

Which statement about Explicit Hierarchical Locking (EHL) for DB2 pureScale is true?

A. EHL is enabled by default in DB2 10.5 pureScale environments.

B. There are three EHL states available: SHARED, DIRECT_ACCESS and NONSHARED.

C. Only regular tables, temporary tables, and non-partitioned indexes can take advantage of EHL.

D. EHL is designed to improve DB2 pureScale performance by avoiding CF communications for tables that are
accessed from only one member.

Correct Answer: A
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QUESTION 3

If the DB2_WORKLOAD registry variable is set to ANALYTICS, what value will be assigned to the DFT_DEGREE
database configuration parameter, by default?

A -1
B.1
C.ON
D. ANY

Correct Answer: A

QUESTION 4

What is a DB2 Advanced Copy Services (ACS) script used for?

A. To install and configure DB2 Advanced Copy Services.

B. To redirect Tivoli Storage FlashCopy Manager commands to DB2 Advanced Copy Services.

C. To test the functionality of a DB2 ACS API vendor library without performing a snapshot backup or restore operation.

D. To perform snapshot backup and restore operations on storage devices that do not have a DB2 ACS API vendor
library.

Correct Answer: C

QUESTION 5

By default, the Optim Workload Table Organization Advisor will recommend converting row- organized tables to column-
organized tables if it determines that the change will improve query performance, as a whole, by how much?

A. 15 percent
B. 20 percent
C. 25 percent
D. 30 percent

Correct Answer: B
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